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(1) 5x2—45=5(x2—9)=5(x+3)(x—3)

(2) 3ax2+12ax+12a=3a(x2+4x+4)=3a(x+2)(x+2)=3a(x+2)2
(3) 2bx2—4bx—16b=2b(x2-2x—8)=2b(x—4)(x+2)

(4) 4a2b—bx2=b(4a2—x2)=b(2a+x)(2a—x)
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(1) (x—1)y—(x—1) (2) (x+2)2—3(x+2)—4
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=Mx —My=M(x—vy) =M2—3M—4
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(1) (a+b)x+(a+b)y=Mx+My=M(x+y)=(a+b)(x+7y)

(2) (x+3)2—7(x+3)+10=M2—7M+10=(M—2)(M—5)
=(x+3—2)(x+3—5)=(x+1)(x—2)

(3) (a+b)2+5(a+b)+6=M2+5M+6=(M+3)(M+2)
=(a+b+3)(at+b+2)

(4) 3x(2—y)—y+2=3%x(2—y)+2—y=3x(2—y)+(2—y)
=3xM+M=M(3x+1)=(2—y)(3x+1)
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(1) mx—my=m(x—y) (2) 2ab—4b2=2bl(a—2b)

(3) axyt+ay+a (4) —14a2—21lab+7a
=a(xy+y+1) =—7a(2a+3b—1) ( YOHEELL

() 18a2b—12ab (6) 4abc+16ab—8bc
=6ab(3a—2) =4blact+d4a—2c)

2.
(1) x24+10x+25=(x+5)2 (2) a2—14a+49=(a—7)2

(3) x2—64=(x+8)(x—8) (4) 25a2—16b2=(5a+4b)(5a—4b)

(5) 100—20y+y?2 (6) 4x2+20x+25=(2x+5)2
=(10—y)?
=y2—20y+100
=(y—10)2
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kl)x2+4x+3:<x+1Xx+3) (2) x24+x—2=(x+2)(x—1)
(3) x2—x—6=(x—3)(x+2) (4) x2—3x—18=(x—6)(x+3)
(5) x2+5x—14=(x+7)(x—2) (6) x2—6x—16=(x—8)(x+2)

(7) a2—8a+12=(a—6)(a—2) (8) a2+2a—3=(a+3)(a—1)

(9) 28*16X+X2 IE@E\D’ZU%}%%_ (10) _2X_3+X2
=x2—-16x+28 =x2—2x—3=(x—3)(x+1)
=(x—14)(x—2)



(1) 4x2—12x—40=4(x2—3x+10)=4(x—5)(x+2)

(2) —3ax2?2+6ax—3a=—3a(x2—2x+1)=—3al(x—1)2

(3) x?y—y=y(x2—1)=y(x+1)(x—1)
(4) a(x+y)—3(x+y)=aM—3M=M(a—3)=(x+y)(a—3)
(5) (a—b)2—c2=M2—c2= (M+c) M—c)=(a—b+c)la—b—=c)

(6) (a+b)2—4(a+b)+4=M2—4M+4=(M—2)2=(a+b—2)2



